



Karaka 2025 Results – Vendor Pack

Karaka 2025 Final Statistics (as at 10 February)

	BOOK 1 TOTAL	BOOK 2 TOTAL	COMBINED TOTAL
Aggregate	\$76,442,500	\$9,799,000	\$86,296,500
Average	\$161,271	\$35,633	\$115,062
Median	\$110,000	\$26,000	\$80,000
Clearance	81%	78%	80%
Catalogued	661	427	1088
Withdrawn	73	73	146
Offered	587	353	940
Passed	113	78	190
Lots Sold	474	275	750
Top Price	\$2,400,000	\$260,000	\$2,400,000

Karaka 2025: Final Combined Statistics (as at 10 February)

	2025	2024	2023	2022	2021	2020
Aggregate	\$86,296,500	\$92,297,500	\$82,158,500	\$74,382,500	\$60,996,500	\$78,458,188
Average	\$115,062	\$121,925	\$110,726	\$106,109	\$94,276	\$91,443
Median	\$80,000	\$90,000	\$80,000	\$70,000	\$62,500	\$55,000
Clearance	80%	77%	77%	75%	82%	76%
Catalogued	1088	1125	1079	1103	918	1265
Withdrawn	146	141	121	156	127	143
Offered	940	984	958	947	791	1122
Passed	190	227	216	246	144	264
Lots Sold	750	757	742	701	647	858
Top Price	\$2,400,000	\$1,600,000	\$1,000,000	\$1,000,000	\$800,000	\$900,000

Karaka 2025 Combined Spend by Country (as at 10 February)

Country	2025	2024	2023	2022	2021	2020
New Zealand	\$39,242,500	\$37,199,500	\$32,431,000	\$41,332,000	\$34,947,500	\$34,180,800
Australia	\$33,537,500	\$42,419,000	\$38,586,500	\$24,133,500	\$16,355,500	\$32,484,388
Hong Kong	\$9,005,500	\$8,141,000	\$9,395,000	\$6,587,500	\$8,647,500	\$6,836,500
Malaysia	\$1,680,000	\$2,920,000	\$778,500	-	-	-
South Africa	\$885,000					
Singapore	\$758,000	\$1,056,000	\$457,500	\$1,579,500	\$251,000	\$737,000
China	\$373,000	-	-	-	\$60,000	\$2,492,500
Netherlands	\$340,000					
United Kingdom	\$170,000	-	-	-	\$40,000	\$215,000
Thailand	\$105,000					
Ireland	\$90,000	-	\$160,000	-	-	\$1,250,000
USA	\$50,000	-	-	\$750,000	\$370,000	\$560,000

Japan	\$30,000	-	-	-	\$300,000	\$482,000
Other		\$260,000	\$320,000	-	\$35,000	\$470,000

Karaka 2025 Combined Leading Purchases by Aggregate (as at 31 January)

Purchaser	Aggregate	Bought	Top Price	Top Lot
Mr DC Ellis CNZM (BAFNZ)	\$4,757,500.	27	\$400,000.	417
Mulcaster Bloodstock Ltd / Chris Waller Racing	\$4,330,000.	11	\$2,400,000.	345
KPW Bloodstock	\$2,410,000.	14	\$400,000.	461
The Hong Kong Jockey Club	\$2,370,000.	6	\$625,000.	11
Wexford Stables	\$2,240,000.	14	\$340,000.	399
Tartan Meadow Bloodstock	\$2,225,000.	10	\$600,000.	457
Mr RA James / Mr R Wellwood	\$2,215,000.	7	\$1,100,000.	564
Stephen Marsh Racing / Dylan Johnson Bloodstock	\$1,885,000.	11	\$450,000.	638
Go Racing / Blandford Bloodstock	\$1,855,000.	10	\$375,000.	188
John Foote Bloodstock	\$1,750,000.	13	\$300,000.	550
Patella Bloodstock	\$1,680,000.	8	\$460,000.	377
Mick Price Racing & Breeding	\$1,650,000.	9	\$600,000.	103
Mulberry Racing	\$1,470,000.	4	\$540,000.	628
O'Shea Charlton Racing / James Bester Bloodstock	\$1,240,000.	7	\$320,000.	170
Pike Racing	\$1,232,500.	8	\$400,000.	260
Ciaron Maher Bloodstock	\$995,000.	5	\$275,000.	273
Brendon McCullum & Richardson Racing	\$959,000.	7	\$330,000.	472
TAB Racing Club	\$925,000.	7	\$200,000.	584
Phill Cataldo Bloodstock (BAFNZ)	\$910,000.	11	\$250,000.	326
Betting Entertainment Technologies International Limited	\$885,000.	5	\$275,000.	265

Karaka 2025 Combined Vendors by Aggregate (as at 10 February)

Vendor	Offered	Sold	Aggregate	Average	Top Price	Top Lot
Haunui Farm	49	37	\$7,343,000.	\$198,459	\$2,400,000.	345
Waikato Stud Ltd	57	54	\$6,225,500.	\$115,287	\$380,000.	573
Curraghmore	22	22	\$6,035,000.	\$274,318	\$850,000.	637
Cambridge Stud	39	32	\$4,425,000.	\$138,281	\$540,000.	628
Windsor Park Stud	42	36	\$4,058,000.	\$112,722	\$600,000.	103
Landsdowne Park Ltd	35	31	\$3,885,000.	\$125,323	\$400,000.	169
Elsdon Park	29	24	\$3,860,000.	\$160,833	\$450,000.	266
Hallmark Stud	21	17	\$3,505,000.	\$206,176	\$1,100,000.	564
Wentwood Grange	33	27	\$3,464,000.	\$128,296	\$460,000.	377
Trelawney Stud Ltd	14	13	\$3,405,000.	\$261,923	\$625,000.	11
Rich Hill Stud	39	25	\$3,354,000.	\$134,160	\$525,000.	149
Carlaw Park	25	21	\$2,690,000.	\$128,095	\$300,000.	19
Westbury Stud	64	56	\$2,539,500.	\$45,348	\$320,000.	51
Woburn Farm	26	15	\$2,443,000.	\$162,867	\$400,000.	260
Little Avondale Stud	27	23	\$2,352,000.	\$102,261	\$250,000.	505
Pencarrow Stud	22	15	\$2,335,000.	\$155,667	\$375,000.	274
Riversley Park Ltd	17	15	\$1,950,000.	\$130,000	\$360,000.	52
Jamieson Park	21	18	\$1,691,500.	\$93,972	\$360,000.	595

Highline Thoroughbreds	27	19	\$1,659,500.	\$87,342	\$560,000.	440
Phoenix Park	16	11	\$1,650,000.	\$150,000	\$375,000.	154
Milan Park	15	14	\$1,630,000.	\$116,429	\$475,000.	356
Kilgravin Lodge	15	11	\$1,483,000.	\$134,818	\$450,000.	579
Mapperley Stud Ltd	33	24	\$1,465,500.	\$61,063	\$180,000.	541
Inglewood Stud	14	12	\$1,427,500.	\$118,958	\$375,000.	188
Blandford Lodge	14	11	\$1,382,000.	\$125,636	\$600,000.	457
Beaufort Downs Ltd	13	11	\$1,075,500.	\$97,773	\$200,000.	552
The Oaks Stud	20	14	\$1,028,000.	\$73,429	\$400,000.	277
Seaton Park Ltd	21	20	\$998,500.	\$49,925	\$230,000.	567
Brighthill Farm	24	18	\$795,500.	\$44,194	\$260,000.	855
Leanach Lodge Ltd	12	10	\$768,500.	\$76,850	\$320,000.	170
Highview	16	11	\$748,500.	\$68,045	\$340,000.	174
Lyndhurst Farm	6	5	\$660,000.	\$132,000	\$300,000.	56
Grangewilliam Stud	14	11	\$631,000.	\$57,364	\$325,000.	279
Prima Park	5	4	\$575,000.	\$143,750	\$260,000.	306
HGT Bloodstock Ltd	19	16	\$450,500.	\$28,156	\$72,500.	514
Ardsley Stud Ltd	9	6	\$415,000.	\$69,167	\$130,000.	686
Henley Park	7	6	\$407,500.	\$67,917	\$120,000.	209
Cambria Park	5	4	\$326,000.	\$81,500	\$240,000.	500
Highden Park	3	2	\$250,000.	\$125,000	\$150,000.	1079
Pegasus Lodge	3	2	\$170,000.	\$85,000	\$140,000.	376
Berkley Stud	4	4	\$127,000.	\$31,750	\$50,000.	925
Ardie Thoroughbreds Ltd	3	2	\$95,000.	\$47,500	\$80,000.	431
Apex Bloodstock	9	2	\$80,000.	\$40,000	\$45,000.	681
Beckam Equine	4	2	\$80,000.	\$40,000	\$60,000.	829
Ainsley Downs Stud	6	2	\$74,500.	\$37,250	\$37,500.	973
White Robe Lodge	2	2	\$65,000.	\$32,500	\$60,000.	591
Platinum Bloodstock	4	2	\$52,000.	\$26,000	\$30,000.	919
Hiwiroa Lodge	2	2	\$37,000.	\$18,500	\$30,000.	674
Tui Stables	2	1	\$32,500.	\$32,500	\$32,500.	803
J. O. Burrows	1	1	\$32,000.	\$32,000	\$32,000.	953
Long Acres Stud	2	2	\$22,000.	\$11,000	\$14,000.	843
M. R. Wingrove	1	1	\$15,000.	\$15,000	\$15,000.	966
Kaha Nui Farm	3	1	\$10,000.	\$10,000	\$10,000.	931
Te Aute Stud	1	1	\$7,000.	\$7,000	\$7,000.	678
Advantageous Ventures	1	1	\$5,000.	\$5,000	\$5,000.	1084
Nala Park	2	1	\$5,000.	\$5,000	\$5,000.	850
P. Wilkinson	1					

Karaka 2025 Combined Leading Vendors by Average (three or more sold) (as at 10 February)

Vendor	Offered	Sold	Average	Top Price	Top Lot
Curraghmore	22	22	\$274,318	\$850,000.	637
Trelawney Stud Ltd	14	13	\$261,923	\$625,000.	11
Hallmark Stud	21	17	\$206,176	\$1,100,000.	564
Haunui Farm	49	37	\$198,459	\$2,400,000.	345

Woburn Farm	26	15	\$162,867	\$400,000.	260
Eldson Park	29	24	\$160,833	\$450,000.	266
Pencarrow Stud	22	15	\$155,667	\$375,000.	274
Phoenix Park	16	11	\$150,000	\$375,000.	154
Prima Park	5	4	\$143,750	\$260,000.	306
Cambridge Stud	39	32	\$138,281	\$540,000.	628
Kilgravin Lodge	15	11	\$134,818	\$450,000.	579
Rich Hill Stud	39	25	\$134,160	\$525,000.	149
Lyndhurst Farm	6	5	\$132,000	\$300,000.	56
Riversley Park Ltd	17	15	\$130,000	\$360,000.	52
Wentwood Grange	33	27	\$128,296	\$460,000.	377
Carlaw Park	25	21	\$128,095	\$300,000.	19
Blandford Lodge	14	11	\$125,636	\$600,000.	457
Landsdowne Park Ltd	35	31	\$125,323	\$400,000.	169
Inglewood Stud	14	12	\$118,958	\$375,000.	188
Milan Park	15	14	\$116,429	\$475,000.	356

Karaka 2025 Combined Sires by Average (as at 10 February)

Sire	Offered	Sold	Average	Aggregate	Top Price	Top Lot
Exceed and Excel	1	1	\$500,000	\$500,000.	\$500,000.	0429
Frankel	1	1	\$400,000	\$400,000.	\$400,000.	0260
Snitzel	1	1	\$400,000	\$400,000.	\$400,000.	0417
Wootton Bassett	10	9	\$361,667	\$3,255,000.	\$725,000.	0006
Alabama Express	2	1	\$340,000	\$340,000.	\$340,000.	0399
Hellbent	1	1	\$300,000	\$300,000.	\$300,000.	0002
Savabeel	42	36	\$281,111	\$10,120,000.	\$2,400,000.	0345
I Am Invincible	3	2	\$280,000	\$560,000.	\$300,000.	0194
Too Darn Hot	8	6	\$254,167	\$1,525,000.	\$675,000.	0168
Lucky Vega	1	1	\$240,000	\$240,000.	\$240,000.	0178
Pierata	1	1	\$230,000	\$230,000.	\$230,000.	0567
St Mark's Basilica	10	9	\$210,000	\$1,890,000.	\$360,000.	0595
Capitalist	6	6	\$206,667	\$1,240,000.	\$460,000.	0377
Proisir	58	49	\$203,112	\$9,952,500.	\$1,100,000.	0564
Street Boss	2	2	\$200,000	\$400,000.	\$250,000.	0362
Wooded	1	1	\$200,000	\$200,000.	\$200,000.	0584
Dundeel	6	6	\$196,667	\$1,180,000.	\$450,000.	0638
Toronado	6	5	\$195,000	\$975,000.	\$350,000.	0007
Stay Inside	1	1	\$180,000	\$180,000.	\$180,000.	0294
Fastnet Rock	1	1	\$170,000	\$170,000.	\$170,000.	0646
Wild Ruler	3	3	\$166,667	\$500,000.	\$380,000.	0331
Spirit of Boom	2	2	\$165,000	\$330,000.	\$240,000.	0139
Home Affairs	13	10	\$162,000	\$1,620,000.	\$340,000.	0174
Per Incanto	27	22	\$158,864	\$3,495,000.	\$375,000.	0188
The Autumn Sun	5	2	\$155,000	\$310,000.	\$210,000.	0201
Sword of State	32	29	\$154,810	\$4,489,500.	\$540,000.	0628
Farnan	5	2	\$152,500	\$305,000.	\$230,000.	0030
Almanzor	45	35	\$151,214	\$5,292,500.	\$450,000.	0266

Satono Aladdin	54	41	\$147,683	\$6,055,000.	\$525,000.	0149
All Too Hard	4	3	\$140,000	\$420,000.	\$200,000.	0593
Ole Kirk	3	3	\$136,667	\$410,000.	\$200,000.	0141
Pinatubo	5	4	\$136,250	\$545,000.	\$230,000.	0570
Churchill	3	2	\$135,000	\$270,000.	\$150,000.	0589
Palace Pier	3	3	\$123,333	\$370,000.	\$175,000.	0206
Cosmic Force	1	1	\$120,000	\$120,000.	\$120,000.	0522
Shamus Award	2	2	\$120,000	\$240,000.	\$200,000.	0324
So You Think	8	7	\$115,000	\$805,000.	\$240,000.	0500
Shamexpress	5	5	\$112,000	\$560,000.	\$170,000.	0068
Bivouac	7	5	\$110,000	\$550,000.	\$200,000.	0016
Doubtland	1	1	\$110,000	\$110,000.	\$110,000.	0928
Xtravagant	1	1	\$110,000	\$110,000.	\$110,000.	0202
Russian Revolution	6	5	\$106,000	\$530,000.	\$160,000.	0200
Contributer	14	11	\$104,091	\$1,145,000.	\$240,000.	0077
Dirty Work	2	1	\$100,000	\$100,000.	\$100,000.	0328
Exceedance	2	1	\$100,000	\$100,000.	\$100,000.	0519
Portland Sky	1	1	\$100,000	\$100,000.	\$100,000.	0694
Tassort	2	2	\$100,000	\$200,000.	\$110,000.	0001
Nicconi	3	2	\$93,750	\$187,500.	\$150,000.	0609
Noverre	34	31	\$88,823	\$2,753,500.	\$310,000.	0445
Acrobat	5	5	\$88,500	\$442,500.	\$160,000.	0511
Super Seth	24	19	\$88,026	\$1,672,500.	\$240,000.	0575
Rebel Dane	2	2	\$87,500	\$175,000.	\$120,000.	0067
Sweynesse	7	4	\$86,250	\$345,000.	\$220,000.	0035
Hello Youmzain	49	41	\$84,268	\$3,455,000.	\$375,000.	0154
Shocking	10	7	\$83,714	\$586,000.	\$150,000.	0227
Ardrossan	27	20	\$82,900	\$1,658,000.	\$200,000.	0087
Ghaiyyath	1	1	\$80,000	\$80,000.	\$80,000.	0323
Hanseatic	1	1	\$80,000	\$80,000.	\$80,000.	0163
Maurice	1	1	\$80,000	\$80,000.	\$80,000.	0502
North Pacific	3	3	\$80,000	\$240,000.	\$100,000.	0403
Prague	2	2	\$77,500	\$155,000.	\$100,000.	0652
Ocean Park	20	17	\$76,118	\$1,294,000.	\$240,000.	0660
Captivant	2	1	\$75,000	\$75,000.	\$75,000.	0594
King's Legacy	4	3	\$75,000	\$225,000.	\$100,000.	0198
Belardo	3	2	\$71,250	\$142,500.	\$100,000.	0989
Better Than Ready	1	1	\$70,000	\$70,000.	\$70,000.	1034
Tiger of Malay	1	1	\$70,000	\$70,000.	\$70,000.	0309
Trapeze Artist	2	2	\$70,000	\$140,000.	\$80,000.	0476
Tivaci	13	9	\$68,778	\$619,000.	\$160,000.	0510
Pierro	6	4	\$67,500	\$270,000.	\$120,000.	0241
Supido	3	2	\$66,250	\$132,500.	\$100,000.	1007
Rubick	1	1	\$65,000	\$65,000.	\$65,000.	0795
Fierce Impact	4	4	\$61,875	\$247,500.	\$100,000.	0632
Ace High	20	12	\$60,500	\$726,000.	\$160,000.	0301
Harry Angel	1	1	\$60,000	\$60,000.	\$60,000.	0091

Jon Snow	1	1	\$60,000	\$60,000.	\$60,000.	0845
Royal Meeting	2	2	\$60,000	\$120,000.	\$95,000.	0782
Russian Camelot	1	1	\$60,000	\$60,000.	\$60,000.	0538
Wrote	9	6	\$58,917	\$353,500.	\$100,000.	0833
War Decree	10	10	\$57,900	\$579,000.	\$170,000.	0397
Brazen Beau	2	2	\$55,000	\$110,000.	\$60,000.	0650
Vanbrugh	8	7	\$53,714	\$376,000.	\$170,000.	0456
Saxon Warrior	1	1	\$50,000	\$50,000.	\$50,000.	0682
Redwood	9	8	\$45,625	\$365,000.	\$120,000.	0371
Ferrando	6	1	\$45,000	\$45,000.	\$45,000.	0681
Ribchester	7	4	\$37,500	\$150,000.	\$65,000.	0984
Circus Maximus	13	7	\$37,143	\$260,000.	\$100,000.	0246
Vadamos	7	6	\$35,417	\$212,500.	\$100,000.	0192
El Roca	14	11	\$35,136	\$386,500.	\$90,000.	0592
Ancient Spirit	3	3	\$35,000	\$105,000.	\$60,000.	0591
Armory	29	22	\$34,545	\$760,000.	\$120,000.	0604
Tarzino	36	31	\$33,242	\$1,030,500.	\$180,000.	0058
Eminent	1	1	\$32,500	\$32,500.	\$32,500.	0803
Ghibellines	1	1	\$32,500	\$32,500.	\$32,500.	0886
Derryn	10	7	\$31,571	\$221,000.	\$85,000.	0676
Earthlight	4	3	\$30,333	\$91,000.	\$60,000.	0854
Cool Aza Beel	1	1	\$30,000	\$30,000.	\$30,000.	0661
Time Test	9	7	\$29,786	\$208,500.	\$72,500.	1064
The Chosen One	7	5	\$29,600	\$148,000.	\$75,000.	0771
Castelvechio	1	1	\$28,000	\$28,000.	\$28,000.	0900
Embellish	10	7	\$27,643	\$193,500.	\$100,000.	0728
Turn Me Loose	10	8	\$27,500	\$220,000.	\$80,000.	0642
Reliable Man	11	8	\$26,438	\$211,500.	\$75,000.	0788
U S Navy Flag	11	7	\$26,143	\$183,000.	\$90,000.	0243
King of Comedy	5	4	\$25,250	\$101,000.	\$60,000.	0517
Banquo	1	1	\$25,000	\$25,000.	\$25,000.	0398
Press Statement	1	1	\$22,500	\$22,500.	\$22,500.	0880
Yes Yes Yes	1	1	\$20,000	\$20,000.	\$20,000.	1022
Profiteer	1	1	\$19,000	\$19,000.	\$19,000.	1018
Microphone	2	2	\$18,500	\$37,000.	\$28,000.	1068
Staphanos	8	7	\$17,643	\$123,500.	\$36,000.	0762
The Bold One	3	3	\$16,667	\$50,000.	\$36,000.	0988
Brutal	3	2	\$16,000	\$32,000.	\$24,000.	0869
Gold Standard	1	1	\$12,000	\$12,000.	\$12,000.	1075
Preferment	3	3	\$10,333	\$31,000.	\$15,000.	0739
Puccini	1	1	\$10,000	\$10,000.	\$10,000.	0711
Super One	1	1	\$5,000	\$5,000.	\$5,000.	0797
Anders	2					
Extreme Warrior	1					
Ocean Emperor	1					
Shalaa	1					
Zed	1					

Zoustar	1					
---------	---	--	--	--	--	--

Karaka 2025 Combined Leading Sires by Average (three or more sold) (as at 31 January)

Sire	Offered	Sold	Average	Top Price	Top Lot
Wootton Bassett	10	9	\$361,667	\$725,000.	6
Savabeel	42	36	\$281,111	\$2,400,000.	345
Too Darn Hot	8	6	\$254,167	\$675,000.	168
St Mark's Basilica	10	9	\$210,000	\$360,000.	595
Capitalist	6	6	\$206,667	\$460,000.	377
Proisir	58	49	\$203,112	\$1,100,000.	564
Dundeel	6	6	\$196,667	\$450,000.	638
Toronado	6	5	\$195,000	\$350,000.	7
Wild Ruler	3	3	\$166,667	\$380,000.	331
Home Affairs	13	10	\$162,000	\$340,000.	174
Per Incanto	27	22	\$158,864	\$375,000.	188
Sword of State	32	29	\$154,810	\$540,000.	628
Almanzor	45	35	\$151,214	\$450,000.	266
Satono Aladdin	54	41	\$147,683	\$525,000.	149
All Too Hard	4	3	\$140,000	\$200,000.	593
Ole Kirk	3	3	\$136,667	\$200,000.	141
Pinatubo	5	4	\$136,250	\$230,000.	570
Palace Pier	3	3	\$123,333	\$175,000.	206
So You Think	8	7	\$115,000	\$240,000.	500
Shamexpress	5	5	\$112,000	\$170,000.	68

Karaka 2025 Combined First Season Sires by Average (three or more sold) (as at 10 February)

Sire	Offered	Sold	Average	Top Price	Top Lot
St Mark's Basilica	10	9	\$210,000	\$360,000.	595
Wild Ruler	3	3	\$166,667	\$380,000.	331
Sword of State	32	29	\$154,810	\$540,000.	628
Pinatubo	5	4	\$136,250	\$230,000.	570
Palace Pier	3	3	\$123,333	\$175,000.	206
Noverre	34	31	\$88,823	\$310,000.	445
Acrobat	5	5	\$88,500	\$160,000.	511
Armory	29	22	\$34,545	\$120,000.	604
The Chosen One	7	5	\$29,600	\$75,000.	771